
 

213/(Set : B)   P. T. O. 

CLASS : 12th (Sr. Secondary) Code No. 213 
Series : SS/Annual-2023 

Roll No. 

HkwxksyHkwxksyHkwxksyHkwxksy    
GEOGRAPHY 

[ fgUnh ,oa vaxzsth ek/;e ] 
[ Hindi and English Medium ] 

ACADEMIC/OPEN 

(Only for Fresh/Re-appear/Improvement/Additional Candidates) 

le; % 3 ?k.Vs ] [ iw.kk±d % 60 

Time allowed : 3 hours ] [ Maximum Marks : 60 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 7 rFkk iz'u 24 gSaA 
 Please make sure that the printed pages in this question paper are 7 in number and 

it contains 24 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekUlkekUlkekUlkekU; funsZ'k %; funsZ'k %; funsZ'k %; funsZ'k %    

 (i) lHklHklHklHkhhhh    iz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaA 

 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA  

 (iii) iz'uksa ds mÙkj muds vadkuqlkj nsaA  

 (iv) iz'u la[;k 24    fo'ofo'ofo'ofo'o ds ekufp= dks Hkjus ls lacaf/kr gSA 

 (v) fo'o ds ekufp= dks Hkjdj viuh mÙkj&iqfLrdk ds chp etcwrh ls ck¡f/k,A 

 (vi) ekufp= ij viuh mÙkj&iqfLrdk dk Øekad vo';vo';vo';vo'; fy[ksaA 

General Instructions :    

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it.  

 (iii) Answer the questions according to their marks. 
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 (iv) Question No. 24 is related to filling the outline map of the World. 

 (v) After filling the map of the World it should be securely tied in the middle of 

the answer-book. 

 (vi) You must write your Answer-book Serial No. on the map. 

  1. bueas ls dkSu&lk rÙo i;kZoj.k dk fgLlk ughaughaughaugha  gS \ 1 

 (A) tyok;q (B) /kjkry 

 (C) d`f"k (D) ikuh 

 Which element is not a part of environment ? 

 (A) Climate (B) Relief 

 (C) Agriculture (D) Water 

  2. fuEufyf[kr esa ls fdl ns'k esa lgdkjh [ksrh lcls lQy iz;ksx Fkh \  1 

 (A) :l (B) MsuekdZ 

 (C) Hkkjr (D) uhnjySaM 

 In which one of the following countries Co-operative Farming was the most 

successful experiment ? 

 (A) Russia (B) Denmark 

 (C) India (D) Netherland 

  3. bl izdkj dk Jfed dqVhj m|ksx dk Hkkx ughaughaughaugha gksrk \ 1 

 (A) c<+bZ (B) cqudj 

 (C) nqdkunkj (D) HksM+-ikyd 
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 This type of worker is not the part of cottage industry ? 

 (A) Carpenter (B) Weaver 

 (C) Shopkeeper (D) Sheepkeeper 

  4. fuEufyf[kr eas ls dkSu&lh ,d xfrfof/k f}rh;d {ks= dh xfrfof/k ughaughaughaugha gS \ 1 

 (A) yksgk xykuk (B) oL= cukuk 

 (C) eNyh idM+uk (D) Vksdjh cukuk 

 Which one of the following activities is not a secondary sector activity ? 

 (A) Iron smelting (B) Making garments 

 (C) Catching fish (D) Basket weaving 

  5. Hkkjr esa fuEufyf[kr eas ls fdl jkT; dk tula[;k ?kuRo lcls vf/kd gS \ 1 

 (A) if'pe caxky (B) dsjy 

 (C) mÙkj izns'k (D) iatkc 

 Which one of the following States has the highest density of population in India ? 

 (A) West Bengal (B) Kerala 

 (C) Uttar Pradesh (D) Punjab 

  6. vkfFkZd Hkwxksy ls vkidk D;k vfHkizk; gS \ 1 

 Define Economic Geography. 
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  7. mu unh ?kkfV;ksa ds uke fyf[k, tks izkjfEHkd dky esa ?kuh vkcknh okyh FkhA 1 

 Name the river valleys which were densely populated in the early ages. 

  8. vk;q lajpuk D;k gS \ 1 

 What is age structure ? 

  9. xk¡oksa eas jgus okyh Hkkjrh; tula[;k dk vuqikr crkb,A 1 

 What proportion of Indian population living in the villages ? 

10. tula[;k ?kuRo ls vkidk D;k vfHkizk; gS \ 1 

 Define Density of Population. 

11. efgykvksa dks xzkeh.k {ks=ksa ls 'kgjh {ks=ksa eas izokl djus ds fy, dkSu&lh leL;k,¡ grksRlkfgr djrh gSa \ 2 

 What problems discourage women to migrate from rural areas to urban areas ? 

12. o`Ùkkdkj ;k oxkZdkj cfLr;k¡ D;k gksrh gSa \ 2 

 Define Circular or Square Settlements. 

13. ns'k ds pkjpkjpkjpkj lcls vf/kd vkcknh okys jkT;ksa ds uke crkb,A 2 

 Name four most populous States of the Country. 

14. efyu cfLr;ksa dh izeq[k leL;k,¡ dkSu&lh gSa \  2 

 What are the main problems of Slums areas ? 

15. fo'o eas lokZf/kd tula[;k ds ?kuRo okys rhurhurhurhu izeq[k {ks=ksa ds uke crkb,A 3 

 Name three major areas of high population density in the world. 
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16. ^l?ku* vkSj ^ifjf{kIr* ¼fc[kjh gqbZ½ cfLr;ksa eas vUrj Li"V dhft,A 3 

 Distinguish between 'compact' and 'dispersed' (Scattered) settlements. 

17. izokl 'kCn dks ifjHkkf"kr dhft,A Hkkjr esa yksxksa ds izokl ds fy, mÙkjnk;h rhurhurhurhu dkjd crkb,A 3 

 Define the term Migration. Explain three factors that are responsible for 

migration in India. 

18. Hkkjr eas 'kgjh vif'k"V fuiVku ls tqM+h izeq[k leL;kvksa dk mYys[k dhft,A 3 

 Mention major problems associated with urban waste disposal in India. 

19. iukek ugj ij ,d laf{kIr fVIi.kh fyf[k,A 5 

 Write a short note on Panama Canal. 

20. fofHkUu izdkj dh xzkeh.k cfLr;ksa ds çfr:iksa dk o.kZu dhft,A 5 

 Describe the various types of rural settlement patterns. 

21. pkoy dh [ksrh ds fodkl ds fy, vuqdwy HkkSxksfyd ifjfLFkfr;ksa dk laf{kIr fooj.k nhft,A Hkkjr esa 
pkoy ds mRiknu rFkk forj.k ij izdk'k Mkfy,A  5 

 Give a brief account of favourable geographical conditions for the growth of Rice 

cultivation. Describe its production and distribution in India. 

22. Hkkjr esa lwrh oL= m|ksx ds forj.k dk laf{kIr fooj.k nhft,A 5 

 Give a brief account of the distribution of Cotton Textile Industry in India. 

23. ns'k ds izeq[k jk"Vªh; jktekxks± dk mYys[k dhft,A 5 

 Mention the important National Highways of the Country. 
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24. fn, x, fo'ofo'ofo'ofo'o ds js[kk-ekufp= ij fuEufyf[kr dks vafdr dhft, % 1 × 5 = 5 

 Show the following on the given outline map of the World : 

 (i) lSu ÝkaflLdks 

  San Francisco 

 (ii) iFkZ 

  Perth 

 (iii) jkmjdsyk 

  Rourkela 

 (iv) vyoj 

  Alwar 

 (v) eqEcbZ 

  Mumbai 
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